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QUESTION 1

You must configure DHCPD on a system with one interface to support only the clients that require a fixed address.
What must you define in /etc/dhcp/dhcpd.conf to meet this requirement?

A. one SUBNET definition, without a RANGE definition, and multiple HOST definitions

B. one SUBNET definition, without a RANGE definition, and multiple HOST definitions

C. only one SUBNET definition with a RANGE definition

D. only one SUBNET definition without a RANGE definition

Correct Answer: C

QUESTION 2

Examine the udev device naming rule:
KERNEL=="hdb", NAME="disk1"
Which statement is true?

A. A disk device with a default kernel device name of /dev/hdb is accessible using the kernel device names /dev/disk1l
and /dev/hdb.

B. A disk device with a default kernel device name of /dev/hdb has an additional device special file name of /dev/disk1.
C. A disk device with a default kernel device name of /dev/hdb is replaced with /dev/diskl. /dev/hdb does not exists.

D. A disk device with the NAME attribute (from sysfs) matching with diskl is accessible using the kernel device name
/dev/hdb.

Correct Answer: A

QUESTION 3

Which two options prevent unauthorized access to the named service from the rndc utility on Oracle Linux?
A. running rndc-confgen —a to generate a key that can be used by both the named service and the rndc utility
B. running rndc-confgen —a to generate a key that can be used only by the named service

C. running rndc -k /etc/rndc.key to generate a key to be used only by the rndc utility

D. the presence of /etc/named.conf with the line include "/etc/rndc.key"; to allow the named service to check for a
matching key from the rndc utility

Correct Answer: AD
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Reference: http://www.oracle.com/us/technologies/linux/suse-linux-to-oracle-linux-wp-1898710.pdf (page 49)

QUESTION 4

Which two actions are Linux containers best suited to perform? (Choose two.)
A. simplifying firewall setup

B. creating a lightweight virtualization environment

C. testing SELinux policy

D. controlling the resource usage of a set of applications

E. improving the performance of native applications

Correct Answer: BC

Reference: https://www.unixmen.com/docker-lightweight-virtualization-linux-containers/

QUESTION 5

Which three features are included in the OCFS2 file system?
A. online defragmentation

B. sparse file support

C. metadata checksums

D. multiple cluster sizes

E. transparent compression

F. transparent encryption

Correct Answer: BCD

Reference: http://www.oracle.com/us/technologies/linux/025995.htm
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